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Time : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately

- on receipt of this question paper.).

Note :— (i) Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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Note :—(ii) The maximum marks printed on the question paper
are applicable for the students of the regular
colleges (Cat. ‘A’). These marks will, however,
be scaled up proportionately in respect of the
students of NCWEB at the time of posting of

awards for compilation of result.
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Attempt any five questions.

All questions carry equal marks.
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1. (a) Explain, what do you understand by the term
“GDP”. What is the difference between Real GDP
and nominal GDP? (5+5)
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(b) Do you think GDP is a good measure of economic -
welfare ? 5
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2. (a) Explain the relationship between consumption

‘expenditure and disposable income as postulated
by Keynes. : (7.5)
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(b) Suppose the consumption function is given as under
C =100 + .8Y

Calculate the marginal propensity to consume and

average propensity to consume when income level
is 500. (7.5)
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3. Given
Consumption (C) = 100 + .8Y
Investment (I) = 1000
Government Expenditure (G) = 100
Taxes (T) = 100
Exports (X) = 500
Imports (M) = 0.25Y |

Calculate

(a) Equilibrium level of national income. 5

P.T.O.
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(b) Equilibrium level of consumption.
(c) Marginal propensity to save.

(d) Budget surplus.

(e) Balance of trade at equilibrium level.
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4. (a) What are IS-LM curves? How are they
- derived ? (10)
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(b) Show the effect of an increased Government
expenditure (with suitable IS-LM curve) on

national income. (5)

aﬁ.w.w.mwa’ﬁm%n@nmm_ﬂmﬂ
=g ¥ gfg @ T

5. (a) Explain the relationship between demand for
‘money and rate of interest in Keynesian

framework. (7.5)
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(b) Explain, briefly, the quantitative method of credit
~ control. (7.5)
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6. What is Balance of Payment ? What are its principal

components ? Explain. (15)

P.T.O.
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7. (a) Using the relationship between aggregate
expenditure and price level, explain the derivation
of the Aggregate Demand Curve. (10)
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(b) Show the consequences of a positive Aggregate
demands shock in an economy & its impact upon
equilibrium level of GDP and price level in the

short run. (5)
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